CHRISTMAS £

WORD PROBLEMS 6 7.

Solve the following word problems.

There are 14 children staying up late waiting for Santa, until 3 of them fall
asleep. How many children are still awake?

A baker prepares 8 pies for Christmas. His assistant bakes 3 more pies.
Now how many pies are there?

Gina invites 12 friends to her Christmas party. After watching cartoons, 4
of her friends go home. Gina invites 6 more friends and they arrive soon
after. How many of Gina's friends are now at the party?

Kevin builds 2 more snowmen than his friend Randy. All together, the
boys build 14 snowmen. How many snowmen does Randy build?

Stacy has 18 Christmas cards from her friends. Later in the day, 5 more
cards arrive in the mail. How many cards are there now?
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